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2| B5RS K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE| 1 — F
1(7:30| f#EAFE | 28| 5 |BT| {REEfE |80 |11 |BT| XHZX |124| 13 |11

2 (7:36| RFW, |89 |12 |BT| A+E Al | 9.3 | 13 |BT| hEA EIE (11.7| 12 |FrT1| AR 3&HY |11.6] 15 | BT
3 (7:42| FEKRE |74|10 |BT| EAHEIT | 92|12 |BT| K#HEE (11.9| 16 |BT| BAHE [19.1] 24 |BT
4 |7:48| PUERES | 59| 9 |BT| RI&EE— |87 |12 |BT| {REEfE— |14.6| 19 |[BT| BT FZ |21.7| 23 |FR1L
5 |7:54| AR @M% 60| 9 |BT| HE &S [11.0| 14 |BT| HE =% |11.4| 18 |[RT| JIAA T |18.0]| 22 |BT
6 (8:00 TKEE Wk | 9.0 | 10 |[FRT1| {EFEIFHL | 99| 13 |BT| B |[11.5| 15 |BT| HH=EAN |15.3| 19 |BT
7(8:06| HBMEA [11.4| 12 |RT| JIOE |128| 14 |RT| E&H RF |[17.2| 19 |RT| BB LT |22.2| 24 |RT
8 |8:12| HMRHREE | 45| 7 |BT| 5% M52 |55| 8 |BT| #®B— |7.1 |10 |BT| =#F B&A | 9.7 |13 |BT
o(s:18| PBIRFE— |84 | 9 |RT| KB ik |89|10|RT| LEZE |[14.6]| 16 |RT| KE #&N |15.7| 17 |RT
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2 | BsRE K % index | PHC | TEE K % index | PHC | TEE K % index | PHC | TEE K = index | PHC | TEE| A — b
1(7:30| AR /2 |56 | 8 |BT| FHEWH |69 |10 |[BT| #EE{EE |99 | 13 |BT| FEZX %Mt |12.6| 16 |BT

2 |7:36| i E 35| 6 |BT| Jllim$# (6.0 9 (BT| FAAOER | 7.7 |11 |BT| HFRK—Z |11.6| 15 |BT

3 |7:42| HHp#— |79 |11 |BT| R Z=F | 9.1 | 10 |[Fr11| HA FFH | 9.7 | 13 |BT

4|7:48| TEEEH— |50| 8 |BT| 3 %##iFE |81|11|BT| FFfExx |11.1] 15 |BT| FEZTF |29.0| 31 |FRTL
5|7:54| MgH M— |11.6| 13 |RT| S5 iEEM |15.7| 17 |RT| {X@k J#E |16.2| 18 |RT| S =|A |[23.2| 25 |RT

6 (8:00 AFXEMF | 9.7 | 10 |[Fr12| At FOF | 9.9 | 11 |RT| it &3 |13.8| 15 |[RT| /AR |16.9| 19 |RT
7/8:06| PAUSREH | 73|10 |BT| HANEZE |90|15|RT| #WEHE |15.1] 17 |RT| IR |16.3| 21 | BT

8 8:12| HMHMLE |54| 8 |BT| EBEE |60|12 |RT| =8 &XH» |62 |12 |RT| $fAKkFiE | 75| 10 |BT
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